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5 8A Al E8 8B Bl E8 ¢85 456199.htm useful sentencel] The
loss in question was beyond the coverage granted by ust] [ [0 O [
OO000000000O income statementsallowancen. [0 [ We
want a promotion allowance of 15% of our total annual payment to
LaFountaine.J U OO OUOOU0OOOOOOOOOOOO150
0 O 0O 0O O O beginning inventoryd [ O O There was no
beginning inventory.[J [J OO O O O O cost of goods sold ] [ [

[1 Different sectors have different calculations for their cost of goods
soldJ0 000000000000 OOO O depreciationn.
[1 O Depreciation of machinery cost the company a lot of money
lastyear. 1 OO0 OO O0O0OOOOOOO O O distributionn. [
I 1 think we need to find ways of upgrading our distribution
network. D D OO OO0 O0OOO0OOOOOONO O freightn. [
[J The basic model is listed for $8500 plus $250 freight..J O OO O O
DO00000oododdodndgross marginld O Gross
margin is equal to gross income divided by net sales..J [0 I [0 [ [
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